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0 Quiz Review 4.1 —-4.4
f(x)= 4x®-3x*-2x+5 Find a window that shows the whole
graph.
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Find a window that shows the whole
graph.
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Sketch a graph matching each description without your calculator. Then use your calculator to check
your sketch.

3) A cubic function with 3 real zeros and a negative leading coefficient. p
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4) A quar—ttlc function with 2 real zeros where each has a multiplicity of . The leading coefficient is
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State the degree, end behavior, y-intercept, x-intercepts, and increasing/ decreasing intervals for the
following functions. T
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7) (xa—x+2)+(x2-—2x—7
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10) SYNTHETIC division.

(x +2xs—xi+65+1x—1)

X = | P(z\)_ (;)L):r d))i(l>z+(ﬁ
L R
NV 2

S not P<\>: X ><

3 2 2% oot

1

il

l

b(%f 3x + 2% 42

\ e e
R g) 2 Iy ;& 3 2y 42 e |




N

Factor the polynomials completely.
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15) Show that x — 2 is a factor of f(x) = 3x* — 8x® + 4x* + 4x — 8. Then factor completely.
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16) Write an expression for the area and perimeter for the figure shown.
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